
9.16 232.613

10.80 274.396

.60 15.316

.85 21.641
.09 2.286

PANEL THICKNESS

ENCLOSURE SOLD SEPARATELY

ALUMINUM BACK PANEL
SOLD SEPARATELY ALUMINUM PANEL STOPS

15

14

8

5

3

10

16

27

15.72 399.237

14.59 370.662

.50 12.700

.63 15.875

17.62 447.446

16.37 415.696

.84 21.361

1.15 29.261

ALUMINUM FRONT PANEL

PANEL DIMENSIONS ONLY

4

13

6

9

1

11

12

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 70-60861 SPRING LATCH 1
2 70-60428316 #6-32X.375 COMBO PAN HEAD MACHINE SCREW 4
3 70-60425 ACORN CAP NUT EXTRA SHORT 8
4 70-60511316 RIVET, BLIND, #43 (.125-.188 GRIP RANGE) 2
5 55-1032716316 #10-32X.4375 COMBO PAN HEAD MACHINE SCREW 2
6 70-60427316 #6-32 x .75 COMBO PAN HEAD MACHINE SCREW 316 SS 4
7 70-60431316 #6 FLAT WASHER 8
8 70-60426 #6 LOCK WASHER 8
9 70-60431NYLON #6 NYLON FLAT WASHER 4
10 70-UDGS186 SPACER DRILL GUIDE HFPU 186 2
11 70-UPANST186EXT Panel Stop w/ Ext HFPU186 DSN5 1
12 70-UPANST186 Panel Stop HFPU186 DSN5 1
13 70-U60833-1186 Swing Panel, AMU 18x16, aluminum 1
14 70-60804b PANEL HINGE-5"-FLANGE B 2
15 70-60804a PANEL HINGE-5"-FLANGE A 2
16 . ENCLOSURE 1

www.hammfg.com
for more information visit

Data subject to change without notice

Drawing Not to Scale

PART No. PJSPU1816

ISSUE DATE: 08/18/2014


	Sheet1
	Drawing View1
	Drawing View2


